/0/
2 P+{)(n-p +n-9) Cp+q) (20— -9)
= Cry €171 = &3 C'UL pen =

C[H—ﬁ) (2h—p-9) =-( F+‘i)2- = (F-t-q)
= €&y =@ )

Ifn Aerme 070 m, JC/LQ a_joini‘ 0/9%-417» 3

o). B e AMTOD ad 7€ AMCH)
ot = [, = com J b4 T3ty

TLAD = TP AKX + (<)) Tk
= TPARY= TP — TP AT
= Btfax) + AT

d(Pag) = déar ol dg
Tbam+acdan) = (FPraPIa + ™ YA (F7+09)
AL i by Rt T BT RaC T

—— =

Smee  G=d o foms oFf JEme (n.n-1), <the Second Aerm
o the right,

fm AFAXD =0 by shhee theorom.
(;5&'7):_[['7%/\*(*5*7) = Ltﬁ/\(—**?ﬁf"])
- fM ba (% (~x3%7)) = fm fiax(3%) = P, 7).




